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Q1. QUESTION AND ANSWERE

$h Yol
Statements: v .
No laptop is apple. PIg gqa'q' Toqe ARl ‘%l
Not a single apple is mobile. s Y Q9 Al T3 8.
Every mobile is tablet. &Y AlaTSe %aéla&
\ Pl
— - ow '3 T
Conclusions: frss: . >
|. Some tablets which are mobiles are l. $& dade SN A g, duer sh
laptops as well. %l

Il. Some tables are not apples. _— 15 e dadle |9 8t 81
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Q2. QUESTION AND ANSWERE

Stat , - = No 7| el 3¢
atements: ‘ @ lﬁ !
No cream is lotion. C) aﬂé Fl'TQI?I'UiIéI %I .
: L S Y AT I A9 8.
Not a single lotion is oil.
Every oil is shampoo. & dad " L %I

Conclusions: s

l. Some shampoos which areoil gre cream l. ;@h S_del %-._E ﬁj' X
aswell, Xe — — I1.HE B aa a8 Tl .

II”No cream is an oil.










Q3. QUESTION AND ANSWERE

Statements: Y. .

No red is a black. F1E 33 ot 4T B

All blacks are greens. well sl Ifte %

All greens are yellows. GEIRICEOE] % @%
Conclusions: () fosay:

. All blacks are yellows. — 3 . F3fl sl Fell E

Il. At least some yeilo_ws are greens.— "'- A W HH 5 a1 AT §l
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Q4. QUESTION AND ANSWERE

Yo
Statements: .
Some caps are hats._ ?ﬁ; tl- f ;I ". %I
Some hats are shirts. g_,%; R %ZI
Many shirts are ties. —Q——ﬁ?_.%l

Y
. et ey
Conclusions:

I. Some caps are ties. =< \ \ ‘ . i@@@' %F( .
Il. Not a single cap is tie. no (g he. Il TP i @@Hﬁ g
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Q5. QUESTION AND ANSWERE

S Y
Statements: . . -
All floors are buildings. w#ft #Aforel m %.I
All doors are buildings. wat EWGT m %I. .
Some buildings are not houses. leﬁf fafeser g3d el %1
Conclusions: farse:
I. Some floors are not doo@ l. W CIEC] m Hﬁ %|

Il. Some houses may not be buiIdings@ " W W fafesT 78 & ¥ ¢
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SOME NOT ADVANCE CONCEPT

Statements:

l. Some A are not B. 3

Conclusions:
¢ ¥ 6(\ A

Con - “ () Seme & one ot A X P

- @ Some A vne Mot g
& ome Arme Bx {27
® wr Amesx PX [ O

(D Some Botc A XF L~
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Q6. QUESTION AND ANSWERE

Statements: Y.

A few salesmen are girls. Do Hogad Ted ¢l

All girls are saleswomen. qa'ﬁ m dedgHd %l
Some saleswomen are housewives. im W 3[%1&1“ %I
Conclusions: frse:

l. A few saleswomen are sale salesmen l. W mﬂ' JedHT %I
Il. Some hBD?e—\vaes are girls. 1. W ?’Eﬁ'ﬁ" gl
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Q7. QUESTION AND ANSWERE

Yol
Statements:
A few Ostriches are Peacocks. W QI?RTI?? AR %1
All Peacocks are Swans. H&ﬁ Tl’R' W %1
Some Swans are Ducks. DS &9 a9 ¢
Conclusions: fosay:
l. A few Swans are Ostriches— l. DS §H AAHI B

Il. Some Ducks are Peacocks. X "' "F5 5% diF gl




Q8. QUESTION AND ANSWERE

Yo
Statements: .
All shirts are skirts. HaY erC 3 Iuié %I .
No skirt is top. aﬂé Eulié < FI?I‘ %
All tops are kurta. wt e aIiE" %I
Conclusions: forsen: .
. All shirts are kurta . @3 arC Tl %&

Il. Some kurta are skirts "'- G ﬁfﬁﬁ‘: g c><
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Q9. QUESTION AND ANSWERE

Stateme(?ias.’\ e .

Some frooti are Maaza. ot & “2_@' AT el .
No Maaza is slice. Sore IS AT CIEL FI?I‘ gl
All slice are fanta. L CIEL hel %I

Conclusio > fersay. -
I. Some frooti are definitely not slice. I.i@ ;Fa fReTa w7 & Telled Hﬁ ?’I
I Some fanta are definitely not Maaza. - $© her fAfad & & Arer & 8
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Q10. QUESTION AND ANSWERE

D Yol
Statements: .
All carbon are oxygen. fue gl FreeT HrrdIsTeT g
All Nitrogen are carbon. = H&ﬁ 7‘"3313'7{ FreleT 1

Some oxygen are Sulphur.— TSI TeHT ¢l

Conclusions: fersh:

. All Nitrogen being Sulphgrmssmll . gl W TehT gl I
Il. All Nitrogen are not oxygen. ¢ ve ) HHWFIT gl

— ||H8ﬂa13@a?rmmaﬁ%lo§




Q11. QUESTION AND ANSWERE

Statements: e .

No newspaper is magazine. Eﬂé‘ IGEAR 9T AT B

Not a single magazine is book. v sit Avrsfier W Hﬁ %|

Every book is story. - & fhaw FeEl 8

L. ___ng_c; m% aHe L\o_‘l‘-maqqzl'hu

Conclusions: fos:

l. Some stori_c_eivy_hich ir_g_lgook_g_a_r_e < an?hag'l?qT ST & frae §, 9ARER
newspapers as we well. .

Il. No newspaper is a book. * - I. P IGAR fFae 7€t

lll. Some storiesare not r magazines. Il W TS Adrsiier aﬁ %|
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Q12. QUESTION AND ANSWERE

Statements:
A few parrots are not pigeons.
All pigeons are white.

A .Only C1 follows
B .Either C1 or C2 follows
C .Only C2 and C3 follow

No white is green. @ D A||f0||
aﬂ?n g

Conclusions:

I. No green is a pigeon. —

Il. No parrot is green. ¢

lll. Some pigeons are not parrots. =<

Bma‘rﬂmczwm%
Craer C2 31 €3 aforaor X &
D. gaft &1 UTeleT YL
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Q13. QUESTION AND ANSWERE

Statements: A hdel C3 HWUT CX G| %
Some hours are minutes. BITATC1AT C3 3F-IWT hIdl %’
All clocks are minutes. Cdad C2 3 3 amur C G %
No minute is second. D Hﬂﬁ Blell HY

. A Only C3 follows
Conclusions: Eitheﬁg_gﬂoﬂ.cm&) -
I{m hours are clocks. % =

C Only C2 and C3 follow
" D All follow

Il. All seconds b@j clocks is a possibility
lIl.[No hour is a clocks. &r”

——




Q14. QUESTION AND ANSWERE

Statements: hYT. .

No apple is a plum. aﬁé a9 “aﬁ .%I

All plums are oranges. wsit celd G %..I

All oranges are mangoes. w#ft |a¥ ImH %I

Conclusions: frs=:

I. All plums are mangoes‘-/ | |3l woH A %I . .
Il. At least some mangoes are ora|‘1g/es Il WJT H F7 = T Hel %I
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Q15. QUESTION AND ANSWERE

Statements: Yo

Some red are colours. W olfel W %1
No red is a paint. aﬂ? i?,' Ye el gl
All colours are black. gt @ Fre g
Conclusions: fosay:

l. Some black being paintsisa p055|b|I|ty . FS solh F 9T glel Y FHTIAT %|

Il. All paints being black is a poﬁ@ gjlﬁ?n-q gsft 9 & F1 A Fr wHEEAT
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Q16. QUESTION AND ANSWERE

Statements: W

Some mice are keyboards. I¢ FE1s B

No keyboard is a key. aﬂ? %Ialé &Y T8t gl
All keys are rings. gl =nfear Rar 8
Conclusions: M:

l. Some mice are rings.”\ .55 g8 Rar ¢

1. All rings being mice is a possibility. . Ha'ﬁh & EL%' B T HHTET ¢




Q17. QUESTION AND ANSWERE

Statements: @ 3t ¥ et g

All sand are water. S %< QT &l gl

No fruit is a pen. DS ﬂ?l' X 2

Some pen are sand. .

Conclusions: . |sft W I =TEr gl o
I. All fruit are not sand. aj%?ﬂﬂ' gaft arex & 93? ?FT

Il. All water being fruit is a possibility. H’HHFIT g.
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Q18. QUESTION AND ANSWERE

Statements:

All Quagmires are Digital

No Digital is Government

All Government are Dumb
Conclusions:

I. Some digital can be Dumb

Il. All Dumb can never be Digital

S Yol

gsft FaARR Bfoe §
gt et 598

fAsay:

. 5o 3o =9 & goa &

~
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Q19. QUESTION AND ANSWERE

Statements:

Some kind are man.
All Man are Cash.
No Cash is a Cheque
Conclusions:

I. No man is cheque
Il. Some cash is kind

FYA:

O BT AT §.
Toft A= Her ¥
aﬁé%ﬂﬁ*aﬁ%

Iaﬁ?ﬁﬂﬁ*aﬁr%
g, F& Fer guq ?
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Q20. QUESTION AND ANSWERE

Statements:

No issue is social aﬂé m A& T8l 8
All social are animal waft ERrer oo § ‘
All animal are loyal gt SAaT TR &1 @
Conclusions: fosy:

I. some Animal are Social l. W m N %

Il. Some loyal are not Issue 1. W Cler) R FI%’I‘ %




